Unit 1 Review ZmBm

identify the domain and range of the function. C&\me | d
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Name a value that is in the domain, 4, Name a value that is in the range,
but is not in its range. but is not in its domain.
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Which transformation of y = f(x) moves the graph 5 units to the right and 2 units up? g _ _.. & Jﬁ
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Which transformation of y = f(x) would expand vertically by a factor of 3, reflect across the x-axis, and translate
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4 units left and 6 units down?
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Find the inverse for the foliowing: ;\.C,WN _ @e\w m
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13.-  Find the function values for the given piecewise -
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Evaluate each logarithm.
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Write the following in iogarithmic form.
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10. A town’s population increases at a rate of 3% each year. The town’s population was 17,000 in the year 2005.
What will the town’s population be in the year 2025? Round to the nearest whole number.
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11. You r.mnmsa_< purchased a vehicle for $12,500. The vehicle will depreciate at a rate of 10.5% per year. What
will the value of the car be after 5 years? Round to ﬂzm nearest cents.
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Expand the foliowing fogarithms. C\Eﬂ% .Uaxc C‘
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Condense the following logarithms. g@ agmr h
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Solve the following logarithmic equations. Round to the nearest ten-thousandth.
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Solve for x.
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1. Name 2 pair of angles that are alternate interior

angles. o i B

2. Name s pair of angles that are alternate exterior
angles. . , N

3. Name a pair of angles that are corresponding.
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4. Name a pair of angles that are supplementary.
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Point T is the incenter of APQR.
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If point T is the incenter, then point T is the point of

concurrency of "rm\Q\.\ﬁQ )4 £ \\v« W«Nw Ay

AV%
\\mJ \D%Q\.\ b\\m&\
7 SSoLS.
XX =) LS
=
X , o
if m/PRT =24°, then m/ORT =<7

O

) =
If mZRPQ = 62°,then mARPT = ..V\

ST=

If TU = (2x — 1), find x.
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Name the point of concurrency for each triangie.
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JK is the midsegment of
SGHET. JE =5, GH=10 and
fH =15. Find the perimeter of
each triangle.
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Find the length of each segment in simplest radical form.
18. {(-2,3), (-7, -7} 19. (-10,-7), (-8, 1) 20. (1, 5), (2, -2)
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%_:._Em?. Assume x > 0.

\\ 1. V3x? +13x2 2. A 8x? +12x2 3. V17x* +55x2
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9. What is — 6x* ~3x —8x° subtracted 3,9: 3-6x° —8x*?
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Factor completely.

10. 2x% ~8x—42 11. 5x% —45x+90 12. 3x?—9x—12
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Find the zeros.
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Find the roots.
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mmsa the product or quotient.
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